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Chapter 2

For each statement, (a) write the converse, and (b) decide whether the
converse is tiue or false,

1.
2.
3.

If a polygon is a peritagon, then it has five sides.

@ IEa polygon s 5 sides, +ren 1t 15 o pentagon @ true

If Mary lives in Minneapolis, then she lives in Minnesota. i \ ; O ‘ o
IL Mary fives ta Minneso<a, fhre She [vves 7a M 4*”5’[1/3”/"3- L-’ ¥

f two angles are supplements, then their sum equals 180.

TE the cum ol 2% equals 1Bo,Fhren ey ae Sup/y_lgmf,,@(g.@_[n(\e

For Exercises 4-8, name th_e property that justifies each statement. '

4. AB=A

5.

6
7.
8

. I2(3x —7) = x + 5 then6x ~ 14 = x + 5.

For Exercises 1013, find the value of the variable in each diagram.

Re lexiv¢ P&
Ifm/A =42and m/A = msG, thenmsG = 42.

Substitudan POE (or Transitive Pp&)
IftmsB = msC thenmsB + mzX = m/C + mzX.

ALl tron POE
If2(BC) = 13, then BC = 6.5.
Division =
‘b}g‘(r:br/l-* :VQ prop.
Use the diagram at the right to find the measure of each angle.
a. LAOG Jo (vertd) b. L40B 38 (92-5%)
c. £COE 28 (%0136) 4. s a0k Ju2 (9t 5D
e. LFOG 24 (52%2) f. LFOB |54 (95+¢ Zé+’i<?>

38°

[

(12x + 14)° Gx +2) ' (,L,(“Q).t-sg (g0
» 2 5 |
(Roxti e P+ 2(9xe)=oww 4x w90 =062
[ 2x+e 90 + 160‘(8":{{:0/&0 ; }2--'( =90
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Chapter 2
For Exercises 14-17, use deductive reasoning to draw any possible
conclusions. Write not possible if you cannot draw any conclusions. i

; s < h ; -L«Lrn Vf(a'(‘fs e conck,
14. Ifan angle measures 42 degrees, then if1s acut is an acute angle NP - 5iTua

__.\:’\ ****** "‘—\ l\ h ( Lwrs o -+ '\Y—"’ﬂhw
15. All‘g’(TGd‘T'enms-pla‘ers are qutclKMaTﬁﬁ’ isa good tennis player _ Martini A N S @ utc o
> | T A
16. If I domtwe eaf”’sﬁhscreen"‘h‘lé swimming, thep I %elt't sunburned. If I T b\ wear ou /‘bi‘ e wﬁ“ ((
I'get sufburned, o e i . T M par
gets then cin pain. Lais o Sflivy e E DTSN Lw,/t ( r

17. If twoangles are’ veggcal angles then they are congruent LAa H’Z‘B\ A /\ aué/ Z 3 ANE oy Jmo»cf

tha—r angI?:s R (Cac . % Ac“n < MvM}
18. Rewrite the following biconditional as two conditionals: ; I€ 2 f (mo(r.’ { ﬂ\(,gwtl Vo et /’dfé'( e ( G renn
. A quadrilateral is a parallelogram if and only if it has two pairs of than M has 2 pas Cppe 20 Leo 1(

opposite sides that are parallel. (_; L o 7 uad . Nxs //),,,yg app. i cl&.S //

b
For Exercises 19-22, determine whether each statement is a good definition. IS & Pare (et G .

If it is not, previde a counterexample.

19. A square has four right angles. Rectea ﬂ}&i

/1/ e SQ s
20. Vertical angles have the same measure. No Q cong Mﬂ)‘ A V!//ZL ‘K(! “ C”“SQ AL i (.M v g

v'?xtaa Sene Vi
21. Complementary angles are two angles whge me3asure up to 90.

Lo ‘6 v’
22. Spiders have eig legs
&/ ot V\,Zd’(”WtA kzcue 5 [ s" - ﬁ((//h]yé' e < (1/00(_5

23. Give a reason for each step.

5(7x + 23) = 45 Given _
Tx+23 =9 a. 2 Div P e
Tx = —14 b. L Sub%mc‘f?‘dw A=
—_
x=-2 2 dDiv €
24. IfmsA = 83, then what is the measure of the complement of £A? ( 7\ Qo—-53

- X = &7
25. If the comp‘lemem’ of 2B is 67, then what is the measure of AB" 7,3 ?p ~X =677

© Pearson Education, Inc. All rights reserved.

26. If m£C = 131, then what is the measure of the supplement of £C? [Yp—131
"«0 -~ - e
27. If the cgmplem(ent of 2D is 27, then what is the measure of the PU~X T27
supplement of £D? X=63
] &7 "X [y -¢ = /t7

Find the measure of each angle described. ( DX ) ————— ——

4 - 2 —_— _ ac - X
28. F“ur t‘l‘n’res the mngle is twice that o’f its complement 7)0 4 ¥ = 2 ( ) o wall
X k- S /3 190 R — € i )() .
29. Hﬁ'ﬁ'the measure of the angle is 25 more than one‘tlnrd(the measure of /) O ; / jx’ ‘%;S /3( ((ad/ux\ = ny e
its supplement x 21901 2 Ly A

(8o ) = (Go0) "
30. The measure of the angle is half the dtfference between its’complemen N S T
and supplement. @ x= o ((Go- N-{&go —-x)

m di 4@- 54 bbvut 37,7(///:{1 Ty (lsu ~x ~9otx) = 2 (1/0‘5
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